
  ASSEMBLY INSTRUCTION FOR
QUEEN PANEL STORAGE BED

MADE IN VIETNAM PAGE 1 OF 3

B-11600-7-QH / B-11600-7-QFB / B-11600-7-QKSR

Part Description Code. Q'ty No. Hardware Description Code. Q'ty

1

Spring washer 5/16"*Ø12

Allen key M4*2-5/16"

8

PART LIST FOR HEADBOARD

Part DescriptionNo. Code. Q'ty

Queen HeadboardA 1

Left Headboard
Leg

Queen Headboard
Bottom Stretchet

Headboard Hardware Packed with Headboard

B

C

1

2

3 Allen Bolt 5/16"*1-3/4"

4 1

HARDWARE LIST FOR HEADBOARD

D

Right Headboard
Leg 1

1

8

Part Description Code. Q'ty

No. Hardware Description Code. Q'ty

Part DescriptionNo. Code. Q'ty

Queen FootboardE 1

Storage Drawer Slat
Support Leg with
Leveler

2

No. Hardware Description Code. Q'ty

Flat washer 5/16"*Ø19 127

8

Allen Bolt 5/16"*1"

12

Siderail Hardware Packed with Siderail

12

HARDWARE LIST FOR FOOTBOARD

HARDWARE LIST FOR SIDE RAILS

Part Description Code. Q'tyPart DescriptionNo. Code. Q'ty

Side Rails 2

PART LIST FOR SIDE RAILS

J

PART LIST FOR FOOTBOARD

Queen Bed Slats 13

Slat Support Leg
with Leveler

PB-11600 -QSBSLT

PB-11600-BDSPL1

King/Queen Bed
 Storage Drawer 4

Footboard Hardware Packed with Footboard

Storage Rail With
Drawer Slide 2G

I

F

H

7

PB-11600-BDSPL2

PB-11600-QFBSRL

Allen key M4*2-5/16"

6

1

5

9

Flat washer 5/16"*Ø19

PB-11600-7-HBLEG1

PB-11600-7-QHSTR

K

Wood Screw  1" 34PB-11600-KBHW

Spring washer 5/16"*Ø12

Wood Screw  3/8" 2410

PB-11600-KBHW

PB-11600-7-QKSR

PB-11600-7-HBLEG2

PB-11600-7-SRDRW

PB-11600-KBHW

NOTE: SCREW-DRIVER (NOT PROVIDED)Only tighten all bolts when all bolts aligned with bolt inserts.!

8

4. Please put all parts on a non-abrasive floor before assembly, and follow the assembly steps to assemble your newly4. Please put all parts on a non-abrasive floor before assembly, and follow the assembly steps to assemble your newly

Wood Screw  1-1/2"11 8



MADE IN VIETNAM

Adjustable leveler

 D

 B

 D

 C

 A

 3
 1

 2
 4

 3
 1

2
4

 8

6

7
 9

F

F

G

J

E

 C

 A

 A

STEP 1 STEP 2

STEP 1.1

STEP 1.2

STEP 2.1

STEP 2.2

STEP 2.3

STEP 3

PAGE 2 OF 3

5

  ASSEMBLY INSTRUCTION FOR
QUEEN PANEL STORAGE BED

B-11600-7-QH / B-11600-7-QFB / B-11600-7-QKSR

Reattach handle to
outside of drawer

Remove handle from
 inside drawer

1.1

K

10

1.2 1.3

1.4 1.61.5

11



COMPLETED

  ASSEMBLY INSTRUCTION FOR
QUEEN PANEL STORAGE BED

B-11600-7-QH / B-11600-7-QFB / B-11600-7-QKSR

MADE IN VIETNAM PAGE 3 OF 3

 5

CORRECT WAY

THIS IS WRONG WAY

TO
P OF S

LA
T

I

H
TO

P OF S
LA

T

STEP 4.1

Adjustable leveler

H

K

STEP 4

STEP 4.2

STEP 4.3


